2-2-2BRREBRBEFIIHBHR

AETHIEHE 10982 FE 1082 F = 10782 F = 1062 F = 10582 F %
BT R8T HAL 386,017,776 370,212,387 362,454,882 352,333,281 315,827,459
BYPEEHA2 73,045,179 69,466,104 67,881,319 50,051,700 37,967,409
THEEHA3 114,060,868 105,618,124 112,261,484 110,366,923 95,097,818
HEMAR(A)=AL+A2+A3 573,123,823 545,296,615 542,597,685 512,751,904 448,892,686
BEAH 1098 FE 1082 FE 1072 FE 1062 FE 1058 FE
HE &2+ A 2Bl 3645 3704 3642 3619 3504
HEISEEE ANBIB2 1172 936 890 822 863
B4 NEL(N)(B) 4817 4640 4532 4441 4367
HEE 98 EHEMA(T) (A) / (B1) 136,795 131,024 132,595 127,515 114,017
EIERTIBEHEMA(T) (A) / (B2) 63,572 64,084 67,063 62,379 57,217

B =

1LABRARRIRZBEREE - A=WMH

HEUAR=HEM R LA D+ BB H+THEES H




